T 7T W EEAA

AR

(BAL 1)
X 52 $ A BT A%
T )R RF 1 RefC > 6,910
245D 1 FIH] 1 RefC > 3, 460
WEE | —RAHE= | 2R H 1%%&0% 1,720
= 24y® 1 F| 1 1P D & 860
O AWHE=E 1P D & 2, 760
eIk = 1P D & 1,930
e | TR | BAAA 1RFEIC D& 1, 700
i;% 2 430 1 FI i 1H#FW_/>% 860
4450 1 FMA 1 IRFfRILZ D 430
N 1 IRFfRILZ D 760
L [EF 5T = 1¥ﬁ%~%w1ﬂmo% 1,920
. A e 1 EHFA—=FL1 HIZOE 1, 920

A FaX—=] - i%-w—A‘ ’
G ZKT;fiN 1SEHA— kA1 Blzox 960
Il 3 ME = 1 XHE 1 HlicHo& 5, 240
A 1 EHFA—FL1HICOX 640
92 B 1H51AHICSE 3,190

T ) 7T ERENE R

(AL M)
2| D= ARFH 1 KRz > & 1, 480
= 245y 1 F| 1 il o & 750
ﬁﬁﬂ%%% 1 IRFfRIZ D 560
A4 FaX— | A~H=E 1 HA—=bFV1 Alzox 1,920
JL— I I = 1 HFA—=FL1 AIZOX 1,120
55 4 BE 1H1AHIESE 3,190

H1 MHEFREDS 1R 22 & 2 T & Uy RREIR S 1 H gz ane id1 g &

L CRHET 5,
2 A rFa—|

FRUT-FEE L,

c L= LR OEED 1 OF AT

1 0 PR IZEI 0 ¥ C 5,

Z OFROF RIS E R OHE




